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Unit 4: INVERSE VARIATION
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A line with a y-interceptof 7 y is a direct variation.
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An inverse variation is represented by the equation UL~

Check to see if the tables below are Inverse Variation:
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Extra Practice Word Problems

n det rmine y when x = 16. /
1. yvaries inversely as x. Giveny = 4 when x = ¢

2. Determine the inverse variation equatlon The
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' i i iati i hen determine y when x = 4
jes i = = 16. ermine the inverse variation equation. T 7
2. yvariesinverse asx.y= 6 and x = 16. Det '
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[sejy as the rate of r, of pumping. If a pump can empty atankin 2.5

i required to empty a tank varies inve
g e long Jong will it take to empty a take at\SOO gallons per minute?
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4. The force, F. needed to break a board varies |r_1!5r_§gijnh the length, L of the board. If it takes 24 pounds of pressure
s

to break a board 2 feet long. How many pouncfs’Sf’pFessure would it take to break a board tha.‘?ﬁ‘fgg{ ’b"i»—
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